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Answer the following questions

1- Choose (A) or (B), then answer the question:
Replace statement with suitable scientific term:

(A) Elongated sand dunes extend in the
dominant wind direction.

(B) Water bodies got separated from the
main sea by the growing coral reef.

2- Choose the correct answer:

The chemical composition of gypsumis ......
Anhydrous calcium sulfate.
Hydrous calcium sulfate.

Calcium bicarbonate.

®O06

Calcium carbonate.

3- What would happen if .....
Looking at mineral opal from different

angles.

:MY‘ atid Y u::i

1@ () 91 (1) ol i 51 -
rchuliall alal! ellaaatly 3 yliat! Jubliad
0352 JSid ahdatine ke, oS (1)
il 7L 3 olnil o Lgalonil
St e hadis Aile pluai ()
Al pod | Gladd | gad Aot

s Avioual| Aala ¥l i) -
coee 198 ol (AliaS oS )
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4- Read the statement and answer the
d_:.:_ﬂ L_S-"j aslaie (;A Q).@.B))

question:
“Economic deposits appeared in Nile ) .
valley and Abu tartur” rdpalaidl el sla e 52l
Swlg il ola ) Le (i)

1** : What are these deposits?
2" - What are the environmental condition

that cause the deposition?

Sl i At B pat i Le (o)
Sorwlg ol (985 )

u..uLJ.aﬁ @-L:‘:-J_m:i L.A:(ﬁ‘)_s.:! -0

5- Mention what Marcalli scale is used for.
.g!lSJ,’m

6- Justify: o PN TP
Rocks on the fault plain could suffer from | g3tat seice e jgicall
metamorphism. Jgill (o patis uB
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7- Choose (A) or (B), then Compare: (@) 91 (1) o 3| A St =V

. . . - . ‘3 &

(A) Organized grazing and overgrazing. o Q) “"

1 g 15 st 31 (1)

Ol g Oalaadt ! i biwl (o)
(6 a1 398 58 ol 5!

(B) Causes of mineral and fossil fuel
depletion.

8- (Herbivorous in the marine ecosystem are
different from the herbivorous in Desert
ecosystems). Explain this statements.

AL 8 Codall OOIST calisg, -A

Cedal| OST (pe (g pond ! el

(gl pmial i alta i B
Bylati sdd mag
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9- Justify: 1 b et Jle -4
Coastal areas are characterized by more | i &iw¥l ddsludl Gboliad! jls
thermal stability than continental areas. Aylatt abliadl e (5l !
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10- Choose (A) or (B) and answer the question: | : g3 (<) of (1) G fgudt dsf pisnf <\

Replace the statement with suitable loaet by 3t Jucw!

scientific term. N EN (RS WA {

(A) Using the environmental resources | aicd! 3 lget! alisiwl (1)
wisely. B 3w (gl

(B) Period when day animal activities are | ©Llst!dolds led Ja:3,58 (o)
reduced gradually and get back to their | p3 &) 5)gwas auyled!

homes. Lgia e 1) 3 gas
11- Choose the correct answer: s Asvouall Wl W 5 =Y )
All of thg folloyvmg features indicate e Ji pallact! (yo s Lo psen
differential erosion except: | e Lo Gpalitalt il g
(@)  Coastal caves ablaicpad (1)
() Canyons sy Q)
(©)  Stalactite dasisett (D)
(@  Mushroom bt (3)
12- Justify: s e -\ Y
Similarity of geological structures of the | o lal o ¥ gt f slid) sl
southern continents. et | A kst

[6]
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13- What do cause the continuous, slow, 13 | gt & o s L VY

hardly sensed movement of tectonic | aitay de ju 4y 48 > dws )Y

() - .
plates? A g gl

14- Which mineral can be described by the | daauali it Guaelt gewl Lo -\ ¢
following statements? , L OLLGH oL Lty

1** : Native mineral with basal cleavage. | .gucld pluaail g3 g puaic (une : ¥y
2" : Carbonate mineral with true green | 033 43 5L S Qs = Lo
color. - BT IGUNY
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15- Give short notes on water table 10 B pualiine 3U0 LGS| =\ 0

(of ground water). 6 s ) i y ¥ oleadl o gruico

(2, sla
16- Choose (A) or (B), and discuss: (@) 9 (1) ot audt a5 -\
(A) Abnormal expansion of water and its 1l @
importance to marine organisms. dipenly slelt SLatl saaitt (1)
(B) Annual plants is not true desert plants. o sl U
Ctd ad gt | SLSLCT ()
Addin gl pes SULS
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17- Study the figure and answer the questions: | :coi @ Slelel (i JSAN (upat -1V

1*:What is the structure 1 ? | $(1) S La <3

2" : Justify you choice? djmy S Luu
3" :What is the structure 27? ' o uu
4™ :What is the structure 3? 8 (*) e, Lo ‘4-")

[9]
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18- Compare between Komatite and
rhyolite in terms of mineralogical
composition and rock classification.

Cod gl o319 Celila oS oot (198 =\ A
&0 uaelt CuS p U S (0
all adual

Komatite /

PO

=

Lo oS

rhyolite / ccd g1 31

mineralogical
composition

eS|
JEREE P8

rock
classification

- x‘ .". -
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19- Choose (A) or (B), then answer the question:
Replace the statement with a suitable scientific term:
(A) Big Fractures and faulting and severe

folding that deform Earth’s crust.
(B) Era witnessed the formation of Earth
and its lithosphere, hydrosphere and
atmosphere.

103 (9) 91 (1) 3 i 250 =14
toubiall alal! pdlaaelly 3 baalt b
dasial| Ole ait g oolaz acdi (1)
09: | Baiial Sile gt Y
e Y13 il yginio
Lgialé g oy 1515 g i ()
-Alellg g gndly g rduall

20- Choose (A) or (B), then answer the question:
choose the correct answer:

(A) Mineral Topaz scratch all the following
minerals except:

@ Gypsum.
(b Calcite.
(© Corundum.
(@ Fluorite.

(B) Native mineral has a nonmetallic

luster:
@)  Gold.
(b) Diamond.
(©) Galena.
(@ Quartz

zpﬁ(u)j‘(!)wg!}d‘ NES VYA B
1 dovonall Ml T

e Hlagidt Oaae (i (1)
oo lae Lo ALY Galaod!

et (D)
st ()
STl @
“Capglal @

@_*vﬁs\_fggj_m.l.cg.\_a_n(g)
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21- Choose (A) or (B), then interpret: 103 (@) 91 (1) o guadt i § 301 =Y
(A) The important role of the outer core of | . "'“:3
the Earth. %_Us\__'«_sl_”';)_"u_ﬂu:a_vLmJ!(!)
8y dral Lt o )M (o2 st
(B) The axial plane ofthe foldusually includes | «o¥ adalt (g gmaldt g giualt (o)
all axes of folded successive beds. i gloeadt pcan Jadis
Gghadl Leie Gladatl Lgion]
22- What would happen when? Seee e Sty 13Le =YY
Growing plant stem is exposed to equal OleeSt ol SO Bl (3o pal
amounts of light from all direction. ol e 5 guall (e Ao glucie

23- Mention the importance of forest trees | 2 OLiLat jlodi daai S31 - YY
in industry. A liuall
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24- Choose the correct answer: | i dsvewall Al W s Y E
A crystallographic system with three LA e gt (et aLLait
unequal axes, a=g#p, Bis>or<90°, | Jgla o2 dalise doygly jyloe

| e 3874 (e yaual gi ST B dugl3lg

(@)  Orthorhombic. @t st (D)

(b)  Tetragonal. ’ sl ©

(©)  Monoclinic. ' deadl gl

(@  Triclinic. . RPRIIETVS @

25- Study the figure and answer the question: | :coi @3 lolel i1 KA Guyal -Yo

1** : What does this figure represent? | §USE 1aa Jia 13k -
2" : What happens in the liquid upper | Gl azdalt G fale —¥
mantel? | Srlagt (e Gatall s il
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26- What is meant by.....? e Aguaiel Lo =Y
1*t : Environment SLeele At y ¥y
gnd . ECO]Ogy ‘“,:.?.gtgmu Lol

3o 5T S ¥ pltat)

27- Differentiate between residual and A5 g Anis g Ay S (it (08 - YV
transported soils in terms of their i) i (e A g
textures.
residual soil /i g1 transported soil / 43 gaiet! 2,381
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28- Choose (A) or (B) and answer the
question:

What would happen if ....

(A) Shale subjected to high pressure and
low temperature.
(B) Kerogen get heated to 480 °C.

(@) 9 (1) Gt guadt i JX5n0 - YA

§ et e G 13 Le
darial Jalall yoms 4o pa3 (1)
Anadnie Byl pomg il pe
2 A G O g S (v ()

29- Choose the correct answer
Desert environment is characterized by
except:

Very hot during day and cold during night.
Very hot during day and night.

Abundant storms and bright light

Arid and dry.

®0e6

30- Discuss:
The agricultural soil is a product of
chemical weathering of Igneous and
Metamorphic rocks.

t dovoual| Al o) -Y4
Les S A g pomcaal | Acdd | 5Liia

.S&JZ:}H‘}bL@SEﬂﬂ‘ZQM @
.SA.:Jj;JL@SEJ'PJ‘Z..\:tM @
ol Bidg cawlgall 5 ,uS @

(d\.a:-..”) 5LAJ‘EJ-\.33 =13 @

(il Lt e ¥
gl (e e 31 A S
.MM‘)Z\:\)UJ‘)M@M‘
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31- What would happen when rounded 1 ole A Slad ZILLS Lo =Y
pebbles more than 2mm in diameter

ik { WP | o] WERES (T P Py
get cemented together? e

§ yiaulle ¥ e LgilisSe lad o

32- Replace the statement with a suitable | ztlaaelly 5t Jodiwl -¥Y
scientific term: sl | ooalalf
The imaginary line passing through the '
g y p g g Ejjlzd‘)s}q).e:n‘é'.‘.mg@ﬂ‘m‘
center of crystal that when the crystal | ™" * .
rotate about it, the face or edge repeat | “ 29 2stll 15> Sl sl

itself twice or more. Lola) ol gy gl d 5l 9l S
81 1 (5 50 8510

33- What is meant by porosity? Qeenns - dgaiel Lo -YY
)93all dalue
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34- Choose (A) or (B), then compare (@) 9f (1) ot guadt i jn) -¥8
between: ro i @
(A) Sial and Sima in terms of type of rock 1o (1B
and composition. Loteat ! y g3 g Jewd ! yg3na (1)
(B) Volcanic and tectonic earthquakes. bt 53— sl g 2t (14
0 9SS I3 ¥ 59 4018 I3 ()
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35- Study the figure and answer the question: | :coi a3 bl i JSAT uyal -¥o

15t Determine the structures found in the | =S, glg—3l s ¥ |
figure. ; ST B3 g 9ot

21d: Te]| which one is the youngest? § Gl Lol Lol

2
36- What is the importance of: 10v0 JS dradi Lo -¥T
1*¢ : Synthetic fibers. ' Saueluall Cala ¥ &;‘
| s
2" : Humus. ' §JLgtt Loy
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37- Choose (A) or (B), then give an example: | :@3 (o) 9i (1) ot gt di 250 -V

(A) Mineral that usually encountered along AL
fault plane. Jabo e cu o Guas (1)
A g giwe

(B) Period dominated with true angiosperms. B ad il ©)
Ayl 4350

38- Choose (A) or (B), then answer the question: | (<) of (1) et gudt df JZ50 -FA
What would happen to ..... roal @d

(A) Rolling of pebbles in current direction R e AELY

on the bottom of river. e grandtGlgis g5 (1)

sladl HLa ol @,@J! t@

o @92 (e Jlea Wi ad) (o)
.3l Lo

(B) A load suddenly removed from above
a rock.
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39- Choose (A) or (B), then interpret: 10 (@) 91 (1) o 3aadt i 2501 Y4
(A) Stability of biological balance in the | |yt ’:"‘“"
ecosystem. &P o= sladl Ol ala (1)

edf plaY
(B) Occurrence of decomposers affects the | 3o o1 cloilstisgay (0)

abundance of nutrients. oLl 5,89 e yi%0

40- Replace the statement with suitable sl alal pllauaally 3Lual) Jubiul - € »
scientific term:

Layers of salt deposits, which characterize
the arid dry climate found now at the base
of sedimentary succession in North Europe.

Bjman domba Cewlyy (o Clids
ol G o 93 Joal8 Bl Ll
.Qj}j?d\.@@@}uﬂ‘&hw‘

41- Explain the importance of organic JAgiiaal! Sukew ! dredl g )
fertilizers.
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42-
vascular plants living in fresh water can

Choose the correct answer:

tolerate pressure that reaches...

11 times atmospheric pressure

@
®
©
@

2 times atmospheric pressure
10 times atmospheric pressure

4 times atmospheric pressure

43- Read this statement carefully and
answer the questions:

“Rock used by Paleolithic man to make spears”

1** : Mention the name of this rock
2m : Classify this rock and indicate its class.

t dovonall Al o) -¢ Y
2 el ) ddle ol SLSLA
el O podaiiad dliadl olal

sl @ dobias 5ylatt ola | y81 -£Y
aalt Olud| decdiiuwl 3wy
Bt Jas B (S punt]
3wl s gl (1) S5
Il 1 e ()

44- Compare between Hematite and
pyrite in terms of color and streak.

Cat ety Calilangh! (s 1y13 -8
coudnel! = Gl Co (o

Hematite / coilerg!!

pyrite / oyt

color

Ot

streak
Ol |
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45- Study the figure, and answer the | @ Clabel (AN SIS 2l ~£0
questions: Lo |
ol s (5 siese - < i
Sea level c : B A

15 Mention the marine area where spit occurs. | Lais =31 dalaiel! 231 : ¥y

2" : Depth range of area (B). . Y g2
31 : Mention the deposits of area ( C ). ' (2) Adlkaied) Gae < Loy

(.?) pAZYIN L ;‘wtjj)sst LIS
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